
Page 1 of 3 

 

 
 

 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 

SKU: AC-1382 

 

FOOT PEGS CAN-AM OUTLANDER G2 & G2L (2012+) 

01 02 



Page 2 of 3 

 

 
 
 
 
 
 
 
 
 
 
 
 

Item Part No. Description Qty. 

 
 

COMPONENTS 
Those items are shown on the first page. 

 

01 1381-01 Left Side Foot Peg 1 

02 1381-02 Right Side Foot Peg 1 

 
 

HARDWARE 
Those items are included with each kit to install the components. 

 

03 A-1007 M8 Flat Fender Washer 4 

04 A-1507 M8-1.25 Flange Lock Nut 4 

05 A-2813 M8-1.25 x 40mm Hex Flange Bolt 4 

06 B-5224A 0,319" ID. x 5/8" OD. x 9/16" Lg. Alu Bushing 4 

 

 

 

 

 

 

 

 
 
 
 
 
 
 

SAFETY WARNING 
 

Please read and understand all instructions and safety warning prior to install the product. Failure to do so could result in product 
damage, personal injury or even death. 
 

• Stay alert! Watch what you are doing and use common sense while handling this product. 

• Inspect product for damage prior to installation, do not use if product is in unsafe condition. 

• Do not install product while under the influence of drugs, alcohol or medication. 

• Always use safety equipment to prevent injuries. Approved face and eye protection must always be worn by the installer, as well as others in the work 

area. 

• Do not over reach. Keep proper footing and balance at all times. 

• Dress properly. Do not wear loose clothing or jewelry. Keep your hair, clothing and gloves away from moving parts. 

• Keep your work area clean and well lit. 



Page 3 of 3 

 

INSTALLATION INSTRUCTIONS 
 
 

PREPARATION 
 

• Before starting the installation, we recommend you to clean your floor boards from all the dirt. 

 

INSTALLATION 
 

1. Drill a 5/16” hole through the factory holes on the floorboards. See image below. 

 
 

2. Install the foot pegs using, for each side: (2x) M8x40mm bolts, (2x) 9/16” bushings, (2x) M8 washers 

and (2x) M8 lock nuts. Refer schema below. 

 

M8x40mm Bolt 

9/16” Bushing WASHER and LOCK NUT 
Under the floorboard 

BUSHING Between the foot 
peg and the floorboard 

DRILL HERE 


